. CAREER POWER

IBPS CLERK PRE (MEMORY BASED)ReasoningSolution

Direction (1-5)

S1. Ans.(e)

Sol. Q <F(True) H < F(True)
S2. Ans.(b)

Sol.D > I(False) E = K(True)
S3. Ans.(e)

Sol. V< R(True) W < R(True)
S4. Ans.(d)

Sol. F > T(False) F = R(False)
S5. Ans.(a)

SolM > L(True) M < H(False)
Direction (6-10)

H
A

S6. Ans.(a)
S7. Ans.(d)
S8. Ans.(c)
S9. Ans.(b)
S10. Ans.(e)

Direction (11-15)
S11. Ans.(a)
Sol. L=7th

R=6"

R = 13th
S12. Ans.(c)

Sol. %9,#7,04
S13. Ans.(e)

Sol. E@Z
S14. Ans.(d)

Sol. §L, % B, @Z
S15. Ans.(b)

Sol. L=4th
R =12t
R = 16th
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Direction (16-20)
D B A C
<1 | | L
R €5—3—3—3—> L ABCD

L« —2 2+ %+ 5 R PQRS

S16. Ans.(b)
S17. Ans.(c)
S18. Ans.(b)
S19. Ans.(d)
S20. Ans.(d)
Direction (21-25)
S21. Ans.(b)

Sol.After changing the words become:
TGE MND COU RZM SGE

Hence, there is only one word COU having more than one vowel.

S22. Ans.(c)

Sol. After changing, the words become
EHT DMO CPU AMR EHS

S23. Ans.(b)

Sol. Third letter of the second word from left is D.
Second letter of the second word from right is A.
There are two letters between A and D.
ABCD

S24. Ans.(b)

Sol.

Sol. After arranging the words, we get
CPU MOD RAM SHE THE

d

Fourth from left

S25. Ans.(d)
Sol.

Sol. After changing, we get

THE MOD CPU

Wi Wb Ly

SGF LPC B O V|

1l

QBL RGF

Hence there are four words which have no vowel.
Direction (26-30)
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A

S26. Ans.(a)

S27. Ans.(a)

$28. Ans.(b)

S$29. Ans.(e)

S30. Ans.(c)

S31. Ans.(b)

Sol. +1.+1..+1..+1.
S32. Ans.(b)

S33. Ans.(e)

Sol. SALE, SEAL
S34. Ans.(c)

S35. Ans.(d)

Sol. Opposite of M is N and followed by Prime number.

www.bankersadda.com| www.sscadda.com|www.careerpower.in | www.careeradda.co.in Page 3




